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1.1f28 +11=8,39 + 21 =7 and 45 + 27 = 4, then
95 +25=7 4. Mountain, River, Moon

(A) 11 (B) 9
G o » © @ QOD
2. In the following question, select the missing
number from the given alternatives. ®) O O O “)
24 25 50
24 20 10

. 5 ) (A) 1 B)2

75 . (03 D)4
(A) 20 (B)5 5. Eatables, Meat, Goat
(O 10 (D) 15

m (O @

Directions (3): In the following question, two
statements are given followed by two
conclusions (I) and (II). You have to consider (3) @ O (4)
the statements to be true even if they seem to be
at variance from commonly known facts. You (A) 1 (B) 2
have to decide which of the given conclusions, if (C) 3 (D)4

any, follows from the given statements.
6. Select a figure from amongst the four

3. Statements: 1. Some staplers are pins. alternatives which when placed in the blank
II. All pins are markers. space marked (?) wouldcomplete the pattern.
Conclusions: 1. Some staplers are markers. Question figure

I1. All markers are pins.

Give answer

(A) Only conclusion (I) follows.
(B) Only conclusion (II) follows. Answer figures
(C) Both conclusion follow.

(D) Neither conclusion (I) nor conclusion (II)
follows.

?

L. . . (1 ) (3) 4)
Directions (4-5): Identify the diagram that best

represents the relationship among the given (A) | (B) 2
classes. O3 (D)4

1-{D} - 2-{A} - 3-{A} - 4-{C}-5-{A}-6-{A}
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